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1. The misconceptions about intellectual
history stem from

(A) A body of techniques
(B) The common stock of knowledge

(C) The dominance of political
historians

(D) Cosmological beliefs

2. Study the following figure and answer
the questions given below.

|:| — Trained nurses

7\ 1 . .
3 — Married population
sy O PoP

y 5 Aa Nurses in hospital

If hospital management requires only
married trained nurses for operation
theatre from within the hospital, which
part of the diagram he should choose ?

(A) 6 (B) 7
(C) 4 (D) 5

3. Knowledge of cosmological beliefs or
moral ideas of a period can be drawn
as part of

(A) Literary criticism

(B) History of science
(C) History of philosophy
(D) Intellectual history

4. Transforming thoughts, ideas and
messages into verbal and non-verbal
signs is referred to as

(A) Channelization (B) Meditation
(C) Encoding (D) Decoding

00-WwW

1. Sifgs sfaem & fawa o yifeat feram
IS B 7
NKESIEIREEIRE:
(B) I & THT WEK I
(C) TSIk SfagTEshRl < T &
(D) s&Evs Teef foveama o

2. ffafiad aTeRfd 1 31eA H 3R

e few 7o yei & IW D |

QL [ ufsrfera
3 51 4 \ Q—)%ﬁﬂ%ﬁsﬂw—[

72 /\ - s # 7

Ife TETdT T I AT o HidX
T e BRI & T shaa faetfea
gfsrfera @t St 3avIeRar 7, a1 3§
ITRG HT - YFT T ALY, 7
(A) 6 (B) 7

(C) 4 (D) 5

3. sEvg Te el A=A 91 fhet Soes
o ifcen foam w1 I T@ifeRa foRam S
Tehdl &

(A) Trfefees 3met=mT o
(B) d3Tteh sfaem &
(C) Tmifeh sfaem@ @
(D) sitfgeh sferera &

4. fo=mi, gemal 3R T ! HiRges qe

TR-TiiREsh Gepdl o &9 H SGT B

Hehd LAl @
(A) fen fdsm (B) &= &
(C) Hehdtehtor (D) fergreha
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5. Which of the following is not an argument ?

(A) Devadutt does not eat in the day so
he must be eating at night

(B) Devadutt is getting heavier and if
he does not eat during the day, he
will be eating at night

(C) Devadutt eats in the night so he
does not eat during the day

(D) Since Devadutt does not eat in the
day, he must not be eating in the
night

6. Effectiveness of communication can be
traced from which of the following ?

(a) Attitude surveys

(b) Performance records
(c) Students attendance
(d)

d) Selection of communication
channel

Select the correct answer from the
codes given below :

Codes :

7. Break-down in verbal communication is
described as

(A) Short circuit (B) Contradiction
(C) Unevenness (D) Entropy

8. What is missing number (?) in the given

series ?

4,10, 40, 190, 940, ?, 23440
(A) 4690 (B) 2930
(C) 5140 (D) 3680
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5. FrfaRaa § & HIM-91 e T8l & ?

(A) <ogT T o 72 @ 7 safoe 3@
Td 4 @M 18T

B) ¢ed & oo &g @l & 3R Jfe 98 fed
T 78 Qa1 8, a1 98 Td | @1 &1 8

C) <oed Td =l @rdT ® sHfe o8 fea
T & @

D) =fe <aea fea # 7€ @ 7, 39ty
38 Ta § oft 7 @ =Ry

. GU90T <hl guesiicdr 1 gdar fefafad

T 9 fored TR ST gehdl B 7

a) MRy FaE

b) e+ i

c) Bl i Iufeufa

(d) TER =9 T I35

= fou U el § O wE IR F A
HifS :

e

(A) (a), (b)
(B) (a), (b)
(C) (a), (b)
(D) (o), (c)

a

(¢

()
c) AT (d)

. Hiftger T9R H §h-S131 i 39 ThR

afvfa ferem T 2
A) T |fhe (B) Teriemvm™
(C) FAHAT (D) Trgrdt

. & T °T@d 4, 10, 40, 190, 940, ?,

23440 H ST ofed TE&AT (7) B ?
(A) 4690 (B) 2930
(C) 5140 (D) 3680
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9. If 2/3 of A = 75% of B = 0.6 of C, then
whatwillbe A:B:C?

(A) 2:3:3 (B) 3:4:5
(C) 4:5:6 (D) 9:8:10

10. Calculate the average of first ten prime
numbers which are odd.

(A) 15.8 (B) 13.8
(C) 17.2 (D) 12.9

Direction : Read the following passage
carefully and answer the Question
No.11t0o 15:

The catalytic fact of the twentieth century is
uncontrollable development, consumerist
society, political materialism, and spiritual
devaluation. This inordinate development
has led to the transcendental ‘second
reality’ of sacred perception that biologically
transcendence is a part of human life. As
the century closes, it dawns with imperative
vigour that the “first reality’ of enlightened
rationalism and the ‘second reality’ of the
Beyond have to be harmonised in a worthy
state of man. The de facto values describe
what we are, they portray the ‘is’ of our ethic,
they are est values (Latin est meansis). The
ideal values tell us what we ought to be, they
are esto values (Latin esto means ‘ought to
be’). Both have to be in the ebb and flow
of consciousness. The ever new science
and technology and the ever-perennial faith
are two modes of one certainty, that is the
wholeness of man, his courage to be, his
share in Being.

The materialistic foundations of science
have crumbled down. Science itself has
proved that matter is energy, processes are as
valid as facts, and affirmed the non-materiality
of the universe. The encounter of the ‘two
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9. AT AR 2/3= Bh175% = C <1 0.6,

@ A:B:CHITEM ?
(A) 2:3:3 (B) 3:4:5
(C)4:5:6 (D) 9:8:10

10. T8I F 3THISY foom T@&atl o 379 &
(A) 15.8 (B) 13.8
(C) 17.2 (D) 12.9

few : f=faRea meams =t emyEs e
3 119 15 G o Yo o I < |

3NYfTeh wHa i fama-sfshan W oft fagm 3
el TS Sl & | 3TEAT 3R g1 o T
X Teh 3R g hl TfiseT & & T qedi
W WA fog o 7, fohed 39 A% 1 Th qEU
v oft 2 | S fee | S S S ghat
H B & B, IEH AHI-FH H I G B
el 5 T gedli 1 @ T srm e §
S " B ¥ U A1 G qoh dife o,
e Toeeadt sHa1 S @1 ', e ufom
TR JTISERIATETe WA ot fean SH
M B g TEd | A iEa g M
MR | T i gewl god 81
2 | 3afTT I8 we df 3faa F& S g
foh T gl 1 foshE 2T g3, foheq EwIld
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cultures’, the scientific and the humane, will
restore the normal vision, and will be the
bedrock of a ‘science of understanding’ in
the new century. It will give new meaning
to the ancient perception that quantity
(measure) and quality (value) coexist at the
root of nature. Human endeavours cannot
afford to be humanistically irresponsible.

11. The problem raised in the passage
reflects overall on

(A) Consumerism

(B) Materialism

(C) Spiritual devaluation
)

(D) Inordinate development

12. The ‘de facto’ values in the passage
means

(A) What is

(B) What ought to be
(C) What can be

(D) Where itis

13. According to the passage, the first
reality’ constitutes

(A) Economic prosperity
(B) Political development
(C) Sacred perception of life
(D) Enlightened rationalism

14. Encounter of the ‘two cultures’, the
scientific and the humane implies

(A) Man is superior to nature

(B) Universe is both material and
non-material

(C) Restoration of normal vision

(D) Co-existence of quantity and quality
in nature
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ST 379§ Toh ohig T ool ST SATUh e
Bl TRl foh 0 Hoa-uaedq1 ¢ Teh | Sfeehm
AT QU o TN H & &R |

11. fagm 3 gt fomaa-ufsean @ form
JhT IS ST & 7
(A) &9 qUTd: 3TTcHehf5d & TT & |
(B) TAWI fovame aft TG g &
IS TATE |
(C) BRI | 3¢ Hifcehare] s9 TS % |
(D) B9 319+ NI Hedi Wi deh 37
gfg 1 FHE T & ol B |

12. ey AT o @ s afterdH
73T 7
(A) BHR ifcien gt fime ST & forgem e
T HTRR B3 @ |

(B) &4 3ferer wifeer wmw fire om 2

(C) s &H 30+ W & & e 78 wa
31frg fergar—ymoT e =ImEd 2 |

(D) fawa & wifqes g@i & ufa fees
TP YT |

13. ui=eq % AR, fasie | o qoai |
wﬁ%ﬂﬂ%% gfaenat
(A) qg-glau

HEwUl &1 e 2 |
(B) TTHE o T&AdTE hl SQTeT e & |
(C) TS = ATcHhigd &1 feam 2 |
(D) HISI-AST o s9 At THR &
ewTd e JHaT & edd T o1
TS T 2 |

14, 0 31 % ot g Ta-Tffa @ & ¢
(A) 3T |eft geat o Fa-fmior 5 & g
forgama &t 2 |

(B) 3T Ao &l Hew@ed &l ™ § |

(C) SATU=RIST T oo & |enfyd &9 #
HEE |

(D) &H YU Tl ol SCeHT T8l =Imed & |
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15. The contents of the passage are
(A) Descriptive
(B) Optional

(C) Axiomatic

(D) Prescriptive

16. Research is
(A) A goal directed activity

(B) An effort to formulate new laws and
principles or their applications

(C) A solution to the local or universal
problem

(D) (A), (B) and (C) are true

17. Variables and categories are specified in
(A) The first stage of content analysis

(B) The second stage of content
analysis

(C) The third stage of content analysis
(D) Final stage of content analysis

18. Internal criticism is done

(A) To verify the accuracy of the
source

(B) To verify the authenticity of the
source

(C) To verify the objectives

(D) To verify both the accuracy and
authenticity of the source

19. Which of the following is an easiest
method of matching the two groups of
subjects ?

(A) Subject to subject matching

(B) Matching by means and SD
(standard deviation)

(C) Matching by ranking
(D) Matching by central scores

00-WwW
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e TR AT I ITYFd Ik ¢ |
(A) H\F\’Jﬁlr_cﬁ
CREEEEIRES)
(C) X TRl il HE
(D) =TS <Y uftehedHT
STIHHM 2
(A) w1 Tachma wifafafy

B) 7T I 3R AgTal 91 3ok ST
I IR HE H T

(C) TIHIT AT Treifieh TEeT SRl FHIEH

(D) (A), (B) 3R (C) & &

=R 3R St fifdse 8

(A) Torraeg faverur 1 wgar =@

(B) Tersrrereq fergetwor =1 gEr =rwom

(C) Tersrareg fergetwor =1 offerr =or

(D) Torrraeq fargetyor &1 3ifam =

AR HATATHAT bl ATt &

A) BT <l HehdT <l T i o feTw

B) &I =hl WTHTIUTShAT Sl HcaATd i
% fog

C) 3231 ol T Hid o foIu

(D) Ed &t TehdT 3T TRl gt

! TeaTfud i & forw
frafafea & @ $F-w1 fawai & < wg
1 U i 1 HEH 3T T 8 7
A) fawa @ fowg firem
B) HIex AT Wk faeer & firem
(©)

(D) hvsii ST e
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20. Inusing the hypothetic-deductive research
paradigm, which of the following sequence
is considered appropriate ?

(A) Hypothesis making, hypothesis
testing, arriving at generalization
and conclusion

(B) Establishing a research problem,
hypothesis making, hypothesis
testing, arriving at generalization
and conclusion

(C) Hypothesis making, establishing
a research problem, hypothesis
testing, arriving at generalization
and conclusion

(D) Hypothesis testing, hypothesis
making, finalizing the problem,
arriving at generalization and
conclusion

21. ‘Blue Baby Syndrome’
(Methaemoglobinemia) is caused by
the contamination of water by the

(A) Phosphates (B) Sulphur
(C) Arsenic (D) Nitrates

22. The ‘Love Canal Tragedy’ was caused
due to

(A) Dumping of hazardous chemicals
in the land fill

(B) Flash floods in the canal
(C) Big fight among the couples
(D) Major landslides in the area

23. Which of the following gases has
maximum contribution to enhance
green house effect ?

(A) Methane

(B) Chlorofluorocarbons
(C) Nitrous oxide

(D) Carbon dioxide
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TeFeheHTcHeh ~-RTHATCHS STTHEH
yfam™ 1 35T v 4 fFEfafga 4 @

HIM-HT 3TIhA 9P THT AT & 7

(A) TIEReTAT ST, TEheddT qieT,
AT 3R Fsehs W g
(B) SNe THEAT 1 TATYAT, UREhedT
T, THEheHT G, ATH=IehT
3 TRy W g

(C) UfsheuaT ST, MY FHEAT i
TIATYAT, GHhedHT G0, FTHT=TRL
R freshd ox wg=

(D) UfeheudT qdi&rur, qieheddT ST,
YT 1 JATaH B9 ST, AT
I fepd W wg=

o ol fagm’ (wemetfemtiE) Tt
% f1 & gt B9 % R g 8
(A) BiEheH E  (B) To®l |

(C) 3T & (D) A13eeH ¥

T FATA gSiSl HI BRI AT

frafafaa 5 9 foem g =1 14 839
YWTE bl S § 3AfIehad INeH & ?
(A) Ha

(B) FAFARTS
(C) TseH JTHETse
(D) T SBATFATES
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24. The head office of the National 24. TS Sa-fefaear wiferstor &1 gam
Biodiversity Authority is located in Frtea foug 2
(A) Chennai (B) New Delhi (A) 998 (B) 78 feeeft
(C) Jammu (D) Bangaluru (C) 5= (D) Em?g’@

25. The pioneer human community 25. TR UATeR0T o 1Y STaiishaTsiiet
interacted with the early environment FO 91T e T T o
Z,VA?SNomads (A) @HETEGRT JHTS
(B) Agro-society (B) Fiv-FeT ‘

(C) Hunting and gathering society (C) TG 3T TG H ATl HH
(D) Industrial society (D) SHATefireh TS

26. Which of the following is the most 26. T 3Te8 V&g 1 ToH Hgcaqul o1
important quality of a good teacher ? fadasa-arg ?

(A) Punctuality and sincerity (A) T S I 3T ZHMCH]

(B) Content mastery (B) fers—fgura

(C) Content mastery and reflective (C) forwa—fgurdr e fererefrera

(D) Content mastery and sociable (D) %rq’q—lilguliu ERUSIEZEERL

27. What is the period of learning, where no 27. Hiwd hi CHd S CIbRCI %, GlET Slaféiq )

improvement in performance is made ? IS YR T8 gl & ?

(A) Learning curve (A) e T

(B) Plateau of learning (B) A WBR

(C) Memory (C) i

(D) Attention (D) &

28. Open learning system means 28. frear yomett &1 379 ®
Hed .

(A) Student can take up any number of (A) B T a) H foha oft rIspm o
programmes at a time Hehdl %

(B) Student can not join a programme (B) B forelt off T wrfsem o it
at any time T81 Bl Gohdl 2

(C) Student can join any programme at (C) B Terdft oft T fopeht off predsh &
any time IS & Fehal &

(D) Student can appear in the (D) B foret oft Tmr wdie o sfve &1
examination at any time Tohal &

00-W 8 Paper |
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29. A traditional teaching support system
includes
(A) Smart board
(B) Digital board
(C) White board
(D) Three-dimensional models

30. The Choice-Based Credit System is
(A) Teacher Centric Approach
(B) Student Centric Approach
(C) Both (A) and (B)
(D) Subject Centric Approach

31. Which of the following Committees/
Commissions in their report recommended
that science education and research
should receive high priority to accelerate
the National Economy ?

(A) Acharya Narendra Dev Committee
(B) Mudaliyar Commission
(C) Radhakrishnan Commission
)

(D) Kothari Commission

32. The objective of the Indian Government
behind setting up of Higher Education
Finance Agency (HEFA) is to provide
financial support for

(A) Improvement of infrastructure in
premier institutions of the country

(B) Research projects of faculty

(C) Research collaboration between
Indian and Foreign Universities

(D) Research collaboration between
Indian Institutions and Industry
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Tsh TR TR1eqT T sonett § et 7
(A) TITE &

(B) fefsea &€

(C) T SIS

(D) Fr-3mamt aigs

ferered i@ shfee womeft 2

(A) foreres S gfeesm

(B) BT higd gfeeshinr

(C) (A) 3R (B) gHi

(D) forv=r Ffga gfeespior
freferfiaa § & fewr afifer/smEm 3
o R o T 6 ot B wsdE

JrdeEEAT S A ¢ % foru famm

f31eT TR ATHY™ ! 3= MUfHehdr <

ST =TT ?

(A) 3= Hg g afufa

(B) efeldar 31

(C) TLTHRSIH ST

(D) ISR AR

3= e fog widt (W=, €. T, W)

I TYTIAT o fI TRA TR T 3

Frfafiaa & o foxa TgRar Tem

HET R

(A) S % THE T § giamel g o
ESIC

(B) Toreres < sy ufsHTd

(C) W 3R fereft fagfemmer & o=
ITHYT &AM

(D) R FEYET I 3T & o=
I FEA
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33. Which Universities are established by
the Parliament ?

(A) State Universities

(B) Central Universities

(C) Private Universities
)

(D) Deemed to be the Universities

34. Given below are two statements :

Statement | : An institution in the field
of higher education seeking deemed to
be university status must have been in
existence for at least 10 years.

Statement Il : A deemed to be university
must have at least five post-graduate
departments.

In the light of above statements, choose
the correct answer from the options
given below :

(A) Both statement | and statement Il
are true

(B) Both statement | and statement Il
are false

(C) Statement I is correct but statement Il
is false

(D) Statementlis incorrect but statement I
is true

35. Who was the Chairman of the Drafting

Committee of National Education Policy
(NEP), 2020 ?

(A) Kailasavadivoo Sivan
(B)
(C)
(D)
00-W
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Prof. Yashpal Sharma
Prof. G. Raja Gopal
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36. A man goes from A to B at a speed of
20 km per hour and comes back to A

at a speed of 30 km per hour. Find his
average speed for the entire journey.

(A) 20 km per hour
(B) 24 km per hour
(C)

(D) 32 km per hour

28 km per hour

37. If A x B means “A is the father of B”

A + B means “A is the daughter of B”
A + B means “A is the sister of B”

A — B means “A is the husband of B”
Using above relationshipif F—R+H =T,

then how is F related to T ?
(A) Son-in-law (B) Sister-in-law

(C) Daughter-in-law (D) Brother-in-law

38. Given below two statements one

labelled as Assertion (A) and other
labelled as Reason (R).

Assertion (A) : E-commerce companies
require personal data to serve the
stakeholders better.

Reason (R) : In this process, privacy
may get, compromised.

In light of the above statements, choose
the most appropriate answer from the
options given below :

(A) Both (A) and (R) are correct and (R)
is correct explanation of (A)

(B) Both (A) and (R) are correct and (R)
is not correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

Paper |
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39. Consider the following statements

concerning e-governance and
technology :

1. Rich Site Summary (RSS) is not a
very useful tool for working on
Web-service technology.

2. Myspace is one of the most visited
networks in the world.

3. Facebook.com is not the most useful
social networking site of choice for
most students.

4. Wiki - is a group, collaboration
software tool, working on
Web-service technology.

Which of the above statements are

correct ?
(A) 1and 4 (B) 2and 4
(C) 1and 3 (D) 2and 3

40. Which of the following is not a benefit
of Information Technology ?

(A) Retrieval of Information
(B
(C
(D

Preservation of Information

Knowledge Information

)
)
)
) Detecting Information

41. As a good classroom communicator,
you are supposed to know about your

(A) Audience emotions
(B) Silent cues
(C) Artful pauses

)

(D) Counter arguments

00-WwW
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42. Figure out the components of non-

verbal communication in a classroom
from the following.

(A) Facial expression, cultural space
and seating arrangement

(B) Speed of utterance, feel good factor
and acoustics

(C) Sound, physical ambience and
teacher-learner distance

(D) Facial expression, kinesics and
personal space

43. Which of the following statements
regarding the features of Information
and Communication Technology (ICT)

is/are true ?

I. ICT are the main instruments for the
creation of computer networks and
the applications based on them.

II. ICT supports the spread of information
and knowledge, separating the
content from the place where it
belongs physically.

[ll. The digital and virtual nature of most
of ICT products allow the expenditure
for them to be maximized.

Codes :

(A) land Il only
(B) I'and Il only
(C) lland Il only
(D) I, lland Il
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44. Match the List — | with List — Il and
choose the correct options given

below.
List -1 List =1l
(Software) (Application)
a. SPSS i. Reference
manager
b. Ouriginal ii. Quantitative
data analysis
c. Mendeley iii. Process
Automation for
Universities
d. Samarth eGov iv. Plagiarism
detection
Codes :
a b c¢c d
(A) i i v i
B) i ivoo0 il
(C) iii v i i
(D) iv i i
45. Communication with oneself is known as

(A) Organisational communication
(B) Grapevine communication

(C) Interpersonal communication
(D) Intrapersonal communication

46. The table shows the daily income
(in Rs.) of 50 persons. Study the table

and answer the question :

Income No. of

(in Rs.) persons
<200 12
<250 26
<300 34
<350 40
<400 50

How many persons earns Rs. 200 or
more but less than Rs. 300 ?

(A) 8 (B) 12
(C) 38 (D) 22
00-WwW
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47. A condition or characteristic that can

take on different values or categories
is called

(A) a constant

(B) a variable

C) a cause-and-effect relationship
D) a descriptive relationship

(
(
In a Pie chart, the angles for each sector

is calculated by the formula

component part

A
) total x 100

48.

component part
total

(B)

X T

total
component part

x 360°

(©)

component part

©) total

x 360°

49. There is an old adage that says “If you
can’t measure it, you can’t manage it”.
Managers who want to measure and
track their organization’s performance
will frequently use to evaluate

their company’s progress toward goals.
(A) Statistics

(B) Dashboards

(C) Key performance indicators

(D) Both (A) and (B) are right

50. When British Airways merged with

Iberia, the Spanish Airline, what kind of
merger was this ?

(A) Vertical

(B) Horizontal
(C) Joint venture
(D) Conglomerate

47.

48.

49.

50.
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